
Bonding Forces and Energies


2.13  Calculate the force of attraction between a K+ and an O2- ion the centers of which are separated by a distance of 1.5 nm.


Solution


The attractive force between two ions FA is just the derivative with respect to the interatomic separation of the attractive energy expression, Equation 2.8, which is just
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The constant A in this expression is defined in footnote 3.  Since the valences of the K+ and O2- ions (Z1 and Z2) are +1 and -2, respectively, Z1 = 1 and Z2 = 2, then
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= 2.05 ( 10^(-10) N
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